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Problem quickname: 8601

1

Fill in the missing numbers.

a) 355 — = 325 b) 871 — = 861

d) 163 — =113 e) 589 — = 509

g) H98 — = 508 h) 282 — = 272

j) 376 — = 346

2)

Fill in the missing numbers.

a) 8983 — = 8383 b) 2894 — = 2294
d) 3925 — = 3125 e) 7677 — ="T7177
g) 8815 — = 8315 h) 2976 — = 2376
j) 5847 — = 5047

3)

Fill in the missing numbers.

a) 2079 — = 2070 b) 9643 — = 9640
d) 5278 — = 5270 e) 7037 — = 7035
g) 5649 — = 5640 h) 3674 — = 3672
j) 7178 — =T171

4)

Fill in the missing numbers.

a) 362 — = 5322 b) 7786 — = 7726
d) 8195 — = 8165 e) 3084 — = 3014
g) 2087 — = 2067 h) 5445 — = 5415
j) 3079 — = 3039

Good Luck!
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c)662— =612

f)881 — =831

)731— =721
c) 2786 — = 2386
f) 8321 — = 8221
i) 4779 — = 4279
¢) 6177 —  =6174
f) 8579 —  =8570
i) 4487 — = 4481
¢) 2674 — = 2654
f) 6184 — = 6154
i) 7283 —  =7203
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